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35.1810° N 35.1711° N 35.1982° N
139.7580° E 139.7510° E 139.7881° E
N300° E N300° E N300° E
45° 60° 45°
-180° -180° -180°
20km 20km 28km
17km 13.9km 17km
340km? 278km? 476km?
3km 3km 3km
6.4E+18 N m 4.4E+18 N m 1.3E+19 N m
6.5 6.4 6.7
2.5 MPa 2.3 MPa 3.0MPa
0.70m 0.58 0.98m
9.8E+18 N m/s? 8.7E+18 N m/s? 1.2E+19 N m/s?
39 km? 28 km? 69 km?
1.4m 1.2m 2.0m
1.5E+18 N m 9.0E+17 N m 3.7E+18 N m
22MPa 23MPa 20MPa
5.0E+18 N m 3.5E+18 N m 8.9E+18 N m
301 km? 250 km? 407 km?
0.6m 0.5m 0.8m
3.5MPa 3.9MPa 4.1MPa

4 4E+18 N m/s?

4 .5E+18 N m/s?

6.0E+18 N m/s?

2.7E+10 N/m?
3.2 km/s
2.3 km/s






